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ECONOMICS
( Major )
Paper : 5.3

( Introduction to Environmental Economics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following questions :

1x7=7

oo fra epeiyea e ferd

(a) Write the meaning of public good.
JrerRdl TS S oA |

(b) Define environmental economics.
AR AT e fir |

(c) What is meant by externality?
e e & e 2

(d) Point out one important objective of
environmental economics.
AT AR @1 37 S wglers fay |

(e) Write the meaning of free riding.
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2.

(2)

(/ What is the shape of env1ronmental
Kuznets curve?
HRCIA FECADE FIR TGS I ?

(g9 Which goods do not have the
characteristic of divisibility?

EEER T[ Reraamieel Eﬁﬁlﬁ]ﬁ:‘l CIEY

Answer the following questions : 2x4=8
©eT il 2PpTRs T ferd
(a) Show how air is a public good.
(4S9 A 9y e T |
(b) Mention two characteristics of public
good.
ArerZdl T Kol (A8 SeEs 4 |
(c) Give two examples of public bad.
qEEat SNEFRe Hol Swrzde fudl |

(d) Write two impacts of population growth
on environment.

IR G TR T 01 2SR fers |
Answer any three of the following questions :
5x3=15

Wﬁmﬁm%ﬁﬁm%@aﬁm:

(a) Explain the nature of environmental
economics.
AN FLfAE 2 FfS A= F41 |
(b) Write the differences between public
good and private good.
%mm T WE (ST G TER AFPTR
SN
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(3)

(c) Discuss briefly environmental Kuznets

curve.
AR FECy (IR RI@ oqLF Sl
Ea il

(d) Explain the main causes of climate .
change.
G 2R I PR AT 47 |

(e} Write briefly the command and control
policies of pollution control.

o g sor S g s Rew
2GR

Answer any three of the following questions :

10x3=30
wers faan R cre ot e Seq v
(a).. Discuss the interlinkage between
economy and environment, 10
WY wF AREE AReRT e e
41

(b}:" Explajn the causes that lead to market
failure in an economy. Can the problem
of market failure be solved? 5+5
93q GAfee W RFaor FRPHE
1 | IGR RFeror 01 Y SR A_eE 2

() Discuss the concept of ‘tragedy of
commons’ with suitable examples. 10

TE TR TEAR AR CTRE
o1 4IREITCHT SICEAoA] 41 |
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(4 )

(d) What are the incentive-based policies of
pollution control? Mention their
advantages and disadvantages. 5+5

e g Sorrrsfefes Tfemz & K2
GRERT R W SRR SrEy 9 |
(e) Analyze the consequences of global

warming. Suggest measures to mitigate
this problem. 5+5

IR WO FeRerTE Reaad @1 @3
S AGRE A AR S9RCGT |

() Distinguish between positive and
negative externalities. Point out the
relationship between public goods and
externalities. 7+3
NS F AN IIFOR wqem cely [y
N R G W JRFOR AEE ATw
sgferiz fra |

* % ok
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